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M.A. History (1st Semester) (New Syllabus) Examination 

ASPECTS OF MEDIEVAL SOCIETY 
Paper-HIST-103

Regular: 80
Time : Three Hours] [Maximum Marks : „ . , . J L [Private: 100

The candidates shall limit their answers precisely within the 
answer-book (40 pages) issued to them and no supplementary/ 
continuation sheet will be issued.
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Note: Attempt five questions in all, selecting one question 
from each Section A, B, C, D. Question No. 9 is 

Compulsory.
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SECTION-A 
(73TT5-3T)

1. Critically examine the factors leading to the decline of Roman
Empire.

W R1RRT TRR Wit IT Rlt^RW TJWW

2. Throw lights on the Carolingian Renaissance.

SECTION-B 

(wri-l)

3. Give an account of the Pre-lslamic tribal society in Arabia. 

3W W^t 3ilRc|Hl RRF5T ITT ^TT

4. Critically examine the teachings of Moh. Prophet.

WW R^t 1ft fRT^nsrf in WTWT1 iftflTTI

SECTION-C 

( tsIti^-TT)

5. Throw light on the mutual obligations of Lords and Vassals. 
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6. Give an account of rise and fall of the manorial system.

SECTION-D

7. Discuss the volume and nature of agricultural production in 
Europe.

rirar w

8. Give an account of the India's maritime trade relations with 
Europe.

rilri riTriT rigsft WTR riririf qn fariTri

SECTION-E

( ous-ri)

9. Attempt any six of the following :

(a) Reign of Charlemagne.

(b) What do you mean by east-west divide?

(c) What is Umayyad ? ©
(d) What do you mean by feudalism ?

(e) Define the concept of forced labour.

(f) Define the concept of ties dependence.

(g) What is Urbanization?
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(h) What do you mean by new methods of warfare.

(i) Write about sea trade routes.

(j) Define the term modem world. 
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